DCA CLASSES
CLASS Xll - MATHEMATICS — CHAPTER 08

APPLICATION OF INTEGRALS

Name: Date:
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QOs8.
Q09.
Q1o0.
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Q23.
Q24.
Q25.

Q26.

Find the area of the region bounded by the curve y? = x and the lines x = 1, x = 4 and x—axis.
Find the area of the region bounded by y? = 9x, x =2, x = 4 and the x — axis in the first quadrant.
Find the area of the region bounded by the parabola y = x? + 1 and the lines y=x, x=0 and x = 2.
Find area of the region bounded x% = 4y, y = 2, y = 4 and the y — axis in the first quadrant.

The area between x = y2 and x=4 is divided into equal parts by the line x = a, find the value of a.

Find the area of the region bounded by the parabolay =x%?andy = |x].

2

2
Find the area of ellipse X—z +
a

¥ _
=1

Find the area bounded by the curve x?> = 4y and the line x = 4y — 2.

Find the area bounded by the curves (x —1)2+y?>=1and x* + y> = 1.

Find the area of the region bounded by the parabolas y? = 4ax and x? = 4ay, a > 0.

Find the area of the region bounded by the curvesy=x?+2,y=x,x =0 and x = 3.

Find the area of the region {(x, y) : x? <y < x}.

Using integration, find the area of the region given: {(x,y) : 0<y<x2+1,0<y<x+1,0<x<2}.
Compute the area bounded by the linesx+2y=2,y—x=1and 2x+y=7.

Find Smaller area enclosed by the circle x*> + y> = 4 and the lines x +y = 2.

Find the area between the curves y =xand y = x%.

Find the area of the smaller region bounded by the eIIipsez—z + ;’—z =1 and the IineE + % =1.
Find the area of the region enclosed by the parabola x? =y, the line y = x +2 and the x — axis.

Using method of integration, find the area bounded by the curve |x| + |y| = 1.

Find area bounded by curves {(x,y) : yx?and y =| x | }.

2

Find the area of the region bounded by the ellipse % + —=1.

2
Find the area of the region bounded by the ellipse X: +

y2

9
2

-1,

3

Find the area of the region bounded by the curve y? = 4x and the line x = 3.

Find the area between the curve y = |x + 3|, the x — axis and the lines x = -6 and x = 0.

Find the area bounded by the curves {(x, y) : x> + y>< 2ax, y>>ax,a >0, x>0, y > 0}.

Sketch the graph of y = |x + 3| and evaluate f_06|x + 3| dx.
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Q27.
Q28.
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Q30.

Q31.

Q32.

Q33.

Q34.
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Q39.

Q40.

Q41.
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Q46.
Q47.
Q4s.

Q49.

DCA CLASSES

Find the area bounded by the curve y = sinx between x =0 and x = 2m.

Using method of integration, find the area of the region bounded by lines:
2x+y=4,3x—-2y=6andx—-3y+5=0.

Find the area of two regions {(x, y) : y? < 4x,4x%> + 4 y> < 9}.

Prove the area of a circle of radius r is p r? square units.

Find the area of the region in the It quadrant enclosed by x —axis and x = /3y by the circle x2 +
y2=4.

Draw the graph of the curvey = V9 — x29 - x? and find the area bounded by this curve and the

coordinate axis.

Find the area of the smaller part of the circle x? + y? = a2 cut off by the line x = % :
Find the area lying in the It quadrant and bounded by the circle x?> + y> =4 and the linesx =0
and x = 2.
Find the Area of the region bounded by the curve y? = 4x, y — axis and the line y = 3.
Find the area enclosed between the curve y = x3 and the line y = x.
Find the area of the circle 4x? + 4y? = 9 which is interior to the parabola y? = 4x.
Find the area of the region: {(x, y): x>+ y><1 <x +y}.
Draw a rough sketch of the region {(x, y): y? < 3x, 3x? + 3y?> =16} and find the area enclosed by
the region using method of integration.
Using integration find the area of the triangular region whose side have the equations
y=2x+1,y=3x+1,and x=4.
Calculate the area of the region enclosed between eh circles: x2 + y> = 16 and (x + 4)? + y? = 16.
Find the area enclosed by the parabola y? = 4ax and the line y = mx.
Find the area of the region {(x, y) : 0<y < (x? +1),0<y < (x +1),0< x < 2}.
Find the area enclosed by the parabola 4y = 3x? and the line 2y = 3x + 12.

2 Y y

Find the area of the smaller region bounded by the ellipse % + 1 and the Iineg + 3= 1.

Find the area of two regions {(x, y) : y? < 4x,4x%> + 4 y> < 9}.

Find the area of the circle x? = y? = 15 exterior to the parabola y? = 6x.

Find the area bounded by the y — axis, y = cosx and y = sinx, 0 < x 5%.

Using integration, find the area of the region in the first quadrant enclosed by the x — axis, the

line y = x and the circle x? + y2 = 32.
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